Adda

e

NFL
MT

GET IT ON
Google Play

Previous Year Paper
(Civil)
11 Aug, 2024



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ALL EXAMS,
ONE SUBSCRIPTION |

‘I
40,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
500+ Previous Year 500%
Exam Covered Papers Refund

DOWNLOAD NOW


https://applink.adda247.com/d/5zsmwiLHz7

Adda247

GET IT ON
Google Play

-t gaer | A

fwaars| C102

[ PUAT 3 IR YRADT DI a9 9P 7 Wi, 9 ab OAT B Bt gafa 7 fa | ]

W
2. G8teqT &Y 3afy 2 HeT 81 wRA U W HeT 150 WY B

1. TRI&T URY B I 44 U= JRAPT 3R SaR T o HoR IR QT T RIF F 31agdH BRI

3. TRI&T T B b 3{TTeh! URIE dHef Bre- o 3fd Tal af Sia |

TfaRITg U =gl foar Se|
P © SNifdp 3T T USH B TS B
D R I RS

ffga srar gl
WA & I1G 39 TG o1 off Yl ¢ |

oAb UG g1 fohdl SITE |

4. 39 U IR § 59 36 T8 & | U IRKTohT 1 Wie & qid a18 S9! guldT &1 g 3|
5. Pl SMfaRad Uy GRIT 1 ITR TS UG o fopdT SITE | TTefet 9 He | foadt +ft ufvfufa &

6. TP UY H IR IR A (A), (B), (C) 3R (D) fT U &1 IR} bl Ik U W 8! ffgd
7. T SUGE IR fadhed g IR Hafd U= W & 7 (A), (B), (C) T (D) fadwed & et
8. 3R & g A &I WRA & fore /&1 afd Wrse U4 & SWHTd oy |

9. PUTT UH UY & IR & o8 T I TS Ml Bl 7 W, IR T IR P! 7TAd SR & &Y H
10. U= & o fAU U SR & ©U | U &R TNd Bl WA & d1G, I8 Sifad 1| S faded i

11. Ud® U & foe U oiwp faur simewn | #1g FoRTd® i (Rrifea mfdm) adi 21
12. IS BIE Feal B (W 1) HRAT ¢ al Had U= JRAHT TR 81 B | 39F T S1ehT I g

13. USN&T F&l & 3R bapacy, Hagd ST BT YT afeid gl

3 Oiftd & faar S|
BT YA BN |

ST Sle YIS U BT ITUIT X FHafeRad faaror W

14. Q&M & SR JEAdl J BT TG H, GeRidl U B3 3R/AT 34 aral ey &)

15. e e T Uy gRadr & fasadt o faw R wosiaRor &t 9ivT 9 &3 1 3o afay S

g U YRRIahT 3R SNTHSR SR YRKTahT, Tie T TR 919 STHT =+t it

3IhHID

H

Page 1 of 37

BdI&R



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

GET IT ON
Google Play

Part- 1 (01-50)

. Choose the correct option.

The event planners admitted they the number of people that would come for
the carnival.

A) misestimated B) underestimated

C) reestimated D) preestimated

. Identify the incorrect spelling.

A) Amendment B) Juvenile

C) Fraternety D) Conflict

. Choose the option that best fits into the blanks in the given sentence.

A zebra finch its song perfectly if it other finches before it
days old.

A) sings, hears, was B) will sing, has heard, is

C) will be singing, is hearing, was D) sang, is hearing, was

. Fill'in the blanks with the correct option.
Billboards are considered an important part of advertising for big business;

their critics.
A) but, an eyesore; B) but, an eyesore
C) but an eyesore D) but-an eyesore

. Fill'in the blanks with the appropriate option given below.

Sportsman of 20th century without doubt is boxer

Muhammad Ali.

A) The, the, a, the

B) The, no article required, a, a

C) The, no article required, a, no article required
D) No article required, no article required, the, a

is a sentence that states, asserts or proclaims something.

A) Interrogative B) Exclamatory

C) Imperative D) Declarative
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7. Which one of the following is correct for Present Perfect Continuous Tense?

A) Subject + has been + V1 (first form of verb) + ing + Object
B) Subject + has + V3 (third form of verb) + Object
C) Subject + V1 (first form of verb) + s/es + Object
D) Subject + is/am/are + V1 (first form of verb) + ing + Object

8. Choose the option that has a misspelled word:
A) Premises B) Rudimentery

C) Opportunities D) Undeniably

9. Choose the best option that describes the underlined word in its opposite sense in the
given sentence.

As soon as his business began to prosper, he took on more staff.

A) Be in danger B) Collapse

C) To decay D) To develop

10. Choose the option to fill in the correct articles in the sentence.

As ____ network was not working, internet was down and all ____ students were
unable to complete their work.

A) a, a, the B) the, the, the

Q) an, the, the D) a, an, the

11. 699 IS e REBR 2023 H b flher 3 YA BieR fUhed Bl GRIBR Siidr? /

Which movie won the best feature film award in the 69th National Film Awards 20237

A) S[dld / Jawan

B) 3R3IR3AHR / RRR

@) AT eﬁ?ﬂ#}ﬁﬁnm/ Rocky Aur Rani Kii Prem Kahani
D) W: g it e / Rocketry: The Nambi Effect

12. 15 2023 T, AERTY WHR 7 SABIRG dR W fbd U BT YR gAfIHra uRdrer
&1 B FiU1? / In July 2023, Maharashtra government officially awarded Dharavi
Redevelopment Project to which company?

A) e U / Reliance Group B) 31ST! I / Adani Group
@) tﬂwgq/ Piramal Group D) fl—ﬂst"g‘gq/ Mankind Group
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13. Gga Y TG HT GBI Hol 4d 52 /

Where is the headquarter of the United Nations Organization located?

A) qriRiTed / Washington B) Q{Gﬁ/ New York
C) YTSAS / Thailand D) 871/ Hague

14. T4 [IHT GaDioh fbad gRT YHIRIG fohar S 82 /

Who published the Human Development Index?

A) gD / UNESCO B) g[~I® / UNICEF
C) gfSt / UNIDO D) guFSIyl / UNDP

15. Fofafed & 9 ®19-91 T R THaR T4 gie) s & 5= ad1 87 /

Which of the following male animals gets pregnant and gives birth to a baby?

A) ®d / Whale B)ﬂﬂﬁ[‘cﬂ@_/ Seahorse

C) ®Q31 / Tortoise D) SR / Kangaroo

16."g AIS 3K & " T a1 fordt 1% ot /
"The Lord of the Rings" book was written by :

A) Wi AT LU clfeeh / John Ronald Reuel Tolkien
B) T qt / Alan Lee

@) fam M/ Viggo Mortensen

D) Hﬁ@ﬁﬁﬂ:{/ Orlando Bloom

17. YRA H HIF-1 gGeild SHARTY U Teb HiTT aTel 7S Y MTaTet & ey ST el 87 /
Which wildlife sanctuary is known for its one-horned rhinoceros population in
India?

A) ﬁT?TgTqB?IFT/ Gir National Park

B) WT@HB?JT:T/ Bandipur National Park
C) SIS AT &AM / Kaziranga National Park
D) Wﬂéﬁ?ﬂﬁ/ Sundarban National Park

18. U Satud # 3ifiipaH fba dic STal off ¥ebd 87 /

What is the maximum number of votes which can be cast in an EVMs?

A) 2800 B) 3000

C) 2500 D) 2000
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19. "H PR fagR" fby =1 & Hm S1ell &2 /

"Kukur Tihar" is celebrated in which country?
A) YRd / India B) 7Tl / Nepal
C) sTelid / Braxzil D) Wi / France

20. 31y wfeR (IR e Faffed & @ by v o1 go w87 /

Fire temple is a place of worship of which of the following religions?
A) T / Islam B) 34T YH / Christianity

Q) R / Zoroastrian D) dx ?J'J-II/ Buddhism

21. U fad 3240 HieX ddl IS &l 6 e § IR &= A1 g1 fpl/der § S9! ard o1

87/ A man crosses a 3240 m long street in 6 minutes. What is his speed in km/hr?

A) 32.4 forHil/eeT / 32.4 km/hr B) 30.4 fapHi/EcT / 30.4 km/hr

C) 34.4 fobuii/ecT / 34.4 km/hr D) 36.4 fHl/8eT1 / 36.4 km/hr
22. Fafafed 7 @ ge2 o) S oH-d1 82 /

Which of the following is the largest number?

A) 100 6T 10% / 10% of 100 B) 300 &1 5% / 5% of 300

C) 5 BT 100% / 100% of 5 D) 5 T 500% / 500% of 5

23. T, e ¥ SN HS § 3R Gl AR T B oF 32 ol # O v &1 HTg Sfdball
fpan fai & PR HXM? / Bhanu is twice as good workman as Golu and together
they finish a piece of work in 32 days. In how many days will Bhanu alone finish the

work?
A) 48 f&-1/ 48 days B) 40 f&1/ 40 days
Q421742 days D) 46 &1/ 46 days

24, Tl T & o ¥, IUF 5 AT B IS, WAT F 16 HH & SRISR gial ¢ | I 1

87/ Square of the number decreased by 5 times the number is equal to 16 more than
the number. What is the number?

A) 12 B) 8

Q16 D) 10
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25. = & IS g B WReArsli A1 U ShH a1 T § | IETuR TAd S &I UgdT

PIfST1 / The series given below contains a sequence of numbers.
Accordingly identify the INCORRECT number.
25, 29, 37, 53, 87

A) 29 B) 37

0 53 D) 87

26. TYH 11 UTgpfae SRSl & gt T 3Id gia g /

The average of the squares of the first 11 natural number is:

A) 43 B) 36

C) 44 D) 46

27. T%h YegeR TiF &I oId 5,400 $UT T o1 ST & al 20% BT &M BT 8 | AGeR BT BT

P HY IATd PISTEI / A cellular phone when sold for Rs.5,400 fetches a profit of 20%.
Find the cost price of the cellular phone.

A) 4,300 »UT / Rs.4,300
C) 4,000 ®¥YU / Rs.4,000

B) 4,150 ¥4t / Rs.4,150
D) 4,500 »UU / Rs.4,500

28.8'H¢ : 1 {1 o 3FUT BT G W Y T gR1? /
What will be the simplest form of the ratio 8 hours: 1 day?

A)1:3 B)3:1

01l:2 D)2:1
29. T IV UG, T Ufdl TR Uell Bt 31T BT SIUTA 5 : 4 UT| 3T IAD! 3T P SR 7 IV g
4 99 91g ITD1 31 HT G{ﬂ’CITHS‘ITHWI / Three years ago, the ratio of the ages of a

husband and wife was 5 : 4. Today their ages differ by 7 years.
Find the ratio of their ages after 4 years.

A)6:5 B)4:5

0)3:5 D)2:5
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30. T R HTH 7 OYS 3R YR & | A 53 |, 200 RR 3R 600 W & &1 BIH &
fpa ‘Zh% 3R W‘f 87 / There are Horses and Ostriches in a racing farm. When

counting their heads there are 200 and when counting their legs there are 600. How
many Horses and Ostriches are there in the farm?

A) 150 ©TS, 50 W/ 150 horses, 50 ostriches
B) 50 Eﬁ@f 150 W/ 50 horses, 150 ostriches
C) 100 Eﬁ% 100 Wﬂﬁ/ 100 horses, 100 ostriches
D) 130 ‘Eﬁ% 70 Wﬂﬁ/ 130 horses, 70 ostriches

31. Faffad &1 g ®Y: / Solve the following:

Al B) J
oL D) X

32. I AT PR 4Tl Bl T BT /
Complete the series choosing the missing number.
20, 24, 32, 48, 80, .

A) 144 B) 142
C) 140 D) 146

33.9(¢5:a::15: 248 dl a F IRl /1f5:a::15: 24, then a is equal to:

A) 6 B) 9
Q7 D) 8
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34. U IWIGAR A T A1 H 65% Ad T fHT iR 3,645 Al § Sfid Tam| afe g Suflear
)l STel T Tl B ol TRSAT I Pitorg | /
A candidate got 65% votes in an election and won by 3,645 votes. Find the total
number of votes polled if there were two candidates.

A) 10,500 B) 11,000
) 12,150 D) 12,500

35. ﬁ?ﬁ@ﬂﬁfjﬂ 31&R JTd DIIT: / Find the missing letter.

¥ L E H

C F B 7
A)D B)C
0B D) A

36.@%4%@@%%%%%/ How many 4's are there after vowel?
A4BC4EHI4STAYZ4IJKMO4

A) B8 / Six B) &l / Two
C) IR / Four D) dF / Three

37. 31&RI & A H I 31&R DI J1d i | /

Find the missing letter in a sequence of letters.

A, DE, 1JK, , YZABC
A) MNOP B) PQRS
C) LMNO D) UVWX

38. 3UHT I Fg! W &, TP FARC 3HUD! 34! [& B HT 3USc ¢ & o Fgal g, 3

FIT HAT? / Your boss is on leave, a client asks you to give work updates on the same
day, what would you do?

A) FITSC DI a9 "HAT" B I | / Just say "No" to the client

B) i P fafd RAFT F <1/ Post-pone the meeting date

C) 3Hfthy & YT & = I YRE R S| /
Start crying in front of the office colleagues

D) S I 3TAM ADR, SXATAS Pl 3w Y UG I FAlsC &b 1A U (Usic) B
a1 / Take permission from the boss, just go through documents and present them
to the client

Page 8 of 37



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

GET IT ON
Google Play

39. Ioid 1 ATE § b I 1 SAfe 3 A1 & o1 3R 6 ATE § Ugd 311l § 31K Igd & 4
o & a1 9R 7 91 & Ugd A1G 71 AfE < Tl €, sl @ g /
Rajiv remembers that Ramya’s birthday is after 3™ and before 6™ of March and Rahul
remembers it as after 4" and before 7" of March. If both are right, what is the birth date?

A) 4 A / 4™ March B) 5 AT / 5 March

C) 6 |1 / 6" March D) 7 |TE / 7" March

40. 91 + BT 3 x, - BT =, x BT 3f + 3R = BT3RS -7 L /

If + means x, - means +, x means + and + means -, then:
12+3+4x3-3=?

A) 13 B) 1

) 23 D)0

41. 39 T BT T B ol 39 o fdbedl I T g1
g9, Tk, fefeer, firfie /

Select the one which is different from the other three alternatives.
Swans, Sparrow, Kingfisher, Chameleon

A) T / Sparrow
Q) fhIh R / Kingfisher

B) 89 / Swans
D) iR / Chameleon

42.9f¢ P O &Y, Q "MRT P, R IS DI 3R S "°UTId" &I ST §, < (1354)P(4R3) BT AF
R 82/ If P denotes '‘Multiplication’, Q denotes 'Division’, R denotes ' Addition" and S
denotes ' Subtraction’, then what is the value of (1354)P(4R3)?
A) 50 B) 12

C) 63 D) 67

43. 9f& MUMBAI &Y 'NVNCBJ' & =0 & shifed forar SIrdl 8, CHENNAI &1 'DIFOOB)' & =7
T Hifed foar Siar 8, ) 'KOLKATA' &1 & ¥U | wifsd foar s /

If MUMBAI is coded as 'NVNCBJ', CHENNAI is coded as 'DIFOOBJ/,
then KOLKATA will be coded as

A) MONMBVB

B) LPMLBUB

C) LMNOPQR D) INKJZSZ
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44. Wﬁ'@ﬁﬁ’s’ ‘J-ITGlef, Black Watch @1 'Color Item' & U H PIfgd fobdT SITd % 3R
'Small Black Sweater' @I 'Hire Color Play' & ®9 A HIfSd fa1 a1 31 'Black' e &
ﬁ‘lﬁﬁ’é’?ﬂﬁﬁﬁml / In a certain code language, Black Watch is coded as 'Color
Item’, and 'Small Black Sweater' is coded as 'Hire Color Play'. Find the code for the

word 'Black’.
A) Color B) Item
C) Hire D) Play

45. 10 &3 &7 Sd UR 3 fohdll b g ST § 919 15 bl aral f$sdl 1 FpTadr T 7Y
%@aﬁwﬁwm%l U f& &1 ao fa1 87 / The average weight of 10 boxes

increases by 3 kg when a box is placed in a truck after removing a box with 15 kg. What
is the weight of the new box?

A) 15 fdl / 15 kg B) 25 fabell / 25 kg
C) 50 fopall / 50 kg D) 45 fohell / 45 kg

46. 442 g} aTel T G ¥ fhan fawy Tveam a1dt 9§ gid 82 /

How many odd-numbered pages are there in a book of 442 pages?

A) 200 B) 221

C) 300 D) 242

47. 3\ UfAfE 150 U AT & FSH A 20 U3 ufdfe @ a1 § 3R AW 4=RIfR Bt §=d
T &, d 9 20 ot & P framt emRifr s @

Ram earns Rs.150 per day and spends Rs. 20 per day, the remaining money goes to his
savings, then how much money would Ram save in 20 days?

A) 4000 3T / Rs. 4000 B) 3000 ¥UY / Rs. 3000
C) 1000 3T / Rs. 1000 D) 2600 3T / Rs. 2600

48. 9% 1 A1 2020 I FAGR § A 1 30 2020 B HH-1 e g /
If 1 March 2020 is Sunday, what will be the day on 1°* April 2020?

A) IfdarR / Sunday B) [¥dRR / Thursday
C) Y[hdRR / Friday D) §YdIR / Wednesday

49. ' MACSUP BIHIS'CAMPUS S A'LOSDEV BT HIS RTE?/
If the codeof MACSUP is'CAMPUS, then what is the code of 'LOSDE V"?

A)SOLVED B)LOVEDS

CQOVEDSOL D)DSOLEV
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50. ﬁyﬁr@awﬁﬁﬁmmﬁml / Find the odd one from the group.
A) 24 B) 14

Q) 35 D) 49
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Part- 1l (51-150)
51. 3R oid ga1d I GRENT T (d-1a) ufdad fasRid g1 g, o8 se1emare: /

The internal water pressure develops circumferential tensile stress called:

A) UT3U ATt &1 ﬂﬁ@,qm/ The compressive stress of the pipe material
B) Wi E’?-ﬁ%_ (aV'IET%TIT) DI ¢dld / Water hammer pressure

C) UIeY &I glar # ufkely ufded / Hoop stress in the pipe wall

D) &Iﬂ%{?ﬁqﬁlﬁlﬁ/ Longitudinal stress

52. favqa oA & srAd Ffe & fo Faffed & 3 oF-a1 faswed w5t 18t 52 /

Which of the following option is NOT correct for permissible error in a detailed

estimate?
A) TATH 919 7 38T 72 0.01 W 31/
Permissible error in dimension measurement is 0.01 m
B) & HIY H AT IfC 0.01 TR 81/
Permissible error in area measurement is 0.01 sqm
C) 31T 119 & 30T IfE 0.01TqW g1/
Permissible error in volume measurement is 0.01 cm

D) aft aral F 3T Ffe 2% 31 /

Permissible error in all measurements is 2%

53. T R Rigid # A1 IRd &1 39 YHR YR fooam 1 5: /
In boundary layer theory, the boundary layer is defined as:
A) S 3T H 8 3TR el Ueb 314 AT 4R0I 6l g 1 /
Which exists bear a solid boundary only
B) it fapdt oft <fwm a1 SlaR & g Hisle & Tl ] 1/
Which may exist near any boundary or wall
C) ST aTg Bt fexm § 9¢ it Tobat g 3R 8t o 9¢ Il B 1/

Which may or may not grow along the direction of flow

D) ﬁﬁaﬁqﬁ%l / Which does not exist
54. W & Na ot 98 99 31 Hf¥par TeE B 81/

The maximum width of a band chain of a ribbon of steel is

A) 12 fHt 7 122mm B) 14 o / 14mm
C) 16 f&HY / 16mm D) 18 FHHT / 18mm

55. FEfRed & § HF-91 U YR Yad &1 ST U4 fahR W16+ 82 /

Which of the following organization is the research and development wing of Indian

railways?
A) 3. 3R &R / IRCTC B) 3MR.UY.S1.311. / RSDO
C) It 3MR.3MMS.TY. / CRIS D) 3R S1.T9.3{1. / RDSO
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56. fAafafad o 9 fow sieas ugfa & fau uRaisH siide g Toidd 399¢ Sl &1
3T Bkt 82 / Which of the following estimation method requires robust input
data for project estimation?

A) =Y 3HJHIH / Analogous estimation
B) fa=it fAufg / Expert judgement

Q) IW I = (E:IJU—SIGQ) Gﬂﬁfﬂ/ Top-down method
D) Wﬁ@ﬂ S{THIT / Parametric model estimating

57. JaT TR &) fIa=ur yumelt ¥ Siie- dTal U1y 04 a1 AfadT & 9 & forg feemgA fear

ST 9T / The pipe mains or conduits connecting the service reservoir to the
distribution system should be designed for:

A) 3T & TeTT HINT & HIY-T1Y U &1 G- (Bl c) U A1 Ul o1 SHfddad Ufd et
A, S oft &r&wamﬁﬂz / The fire demand plus the coincident draft of water or
the maximum hourly demand of water, whichever is more.

B) 3T 1 AT 3R Ul & ifiiepa Sfes i1 ¥ ferw /

The fire demand plus maximum daily demand of water.

C) T T TN (P IERIST) STUe a1 Uit 1 3if¥iesad ufa det |, ot +ft 3ifdres 8 39
felY / The coincident draft of water or the maximum hourly demand of water,
whichever is more.

D) TR U Bt ART o IY-J1Y GHT b1 G (DIsRisc) e, Sl HH gl 39 fore /

Domestic water demand plus the coincident draft of water, whichever is less.

58. STUed & IURY f1iH (3r3cde) &l g Wi FeT ST e: /

The waste outlet of the bathtub is also called:
A) :ITEﬂ—S{CIﬁIE’—aE / Drain-waste-vent B) Mflel / Trap
C) ATt / Drain D) IR (R#) / Rim
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59. 17 ¥ fireex (¥l I$ fheey) & forg fFofafed 8 4 oF-ar Traa g7 /
Which of the following is INCORRECT for the slow sand filter?

A) T T flheex (il IS fheey) & forg fedia &t &R 3000 & 6000 Ttex Ui Her
gfd M2 81 / The rate of filtration for the slow sand filters is 3000 to 6000 litres per
hour per m?,

B) 1 X fheex (¥l I freex) & forg e ot simaxadsar g1 gidt 81/
Coagulation is not required for a slow sand filter.

C) ot ¥ fheer (RfUs T flhee) & o SUART &1 o1 arelt 9wTs & fafdy, =i wra
1 §el &1l (U BN T/

Method for cleaning use for rapid sand filter is scrapping of top layer.

D) diet 71fd ¥ fireer (it 93 fheey) T A a1 88 &1 JuH URMNS 15 It § sifqm

100 4t 9% BT B 1 /
In slow sand filter loss of head is initial 15cm to 100cm final.
60. T XRA% §d & YUIf THged PI HEI S ]l /
The rotational equivalent of a linear force is called :
A) GRUTHY / resultant B) ElﬂTq:Uf/ torque
C) 9HJY §¢d1 / equivalent force D) & /work

61. IR YdTe B o1d I figaft &1 a7 T 8T & o 3 o foigaft T R areft a1 Heard
8:/In a fluid flow when two points have the same velocity the line passing through
that two points is called:

A) FEK'HW/ Line of equilibrium

B) tﬂ@ﬁ%%@'ﬁ@/ Line of piezometric head
@) EﬁTIFI'I'EFT/ Streamlines

D) THfqya @1/ Equipotential line

62. TAd HYT BT II7 HIoE| / Select the INCORRECT statement.

A) Febic 3R Wd & o & ey & HRUI Ufded, Jd-a-1agad &R (@) H RFEaRd &l
ST gl /
Stress transfers in a pre-tensioned beam due to the bond between concrete and steel.
B) Jd-a-Tagad R (&) H Uaheel Ry & HRUT Pis g1 gl gl g1/
No loss occurs due to anchorage slip in the pre-tensioned beam.
¢) fagdor uries, fagdor e far 3ik v faspfa 1 Srqura 81/
Creep coefficient is the ratio of creep strain to elastic strain.
D) URY-d-Tagad e (Had) ¥ gd-ufdad o1 g1 Yd-d-ragad uca! (Had) i gor
3HfIP Bt 81 / Loss of pre-stress in post-tensioned members is greater than in pre-
tensioned members.
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63. ga1 § et @ TR &b AIGH b BRI ITT B & /
Clay minerals in soils are produced due to type of weathering.
A) IR / chemical B) HIfd / physical
C) Wifaa / biological D) $fAH / synthetic

64. SIS P 3HTdND UTGH! B! (9 BT SUANT HIbh URIT & bl - /

Internal customers of product can be found by using:

A) SId T1¢ / Control Chart B) C-dT< / C-Chart
C) UA-9T1E / Flow Chart D) P-9TC / P-Chart

65. FofaRad & T HH-91 707 iewr i &1 1 g 52 /

Which one of the following is NOT a property of vector quantity?

A) THHT IUANT fordt o 1 TIfdl bl =i & e faran Sran §1/
It is used to represent the motion of an object.
B) q’s’%ﬁ@ &m%l / Itis only one-dimensional.
@) sﬂf{qﬁTITUT @Tmﬂﬁfﬁ?f%l / It has both magnitude and direction.
D) 39 foat 1t fo=m & faaford fosan ST UedT B 1/ 1t can be resolved in any direction.

66. fas §H & [T Tad HYA B UgaH HIfod| /
For pure bending, identify the INCORRECT statement.

A) BT (ARR) B TaTS & 3w s 3ol I BT gl /
Bending moment along the length of the member is zero.

B) BTdl (HTaR) B! AaTs o SFIART SUFUV 9 A BIA § | /
Shear force along the length of the member is zero.

C) foRur @), R 01 & T qaTeR 91 # A8t S |1/
The beam is bent into a circular arc of radius R.

D) foRur &) o g Simauif a1 9 gm & 31efi fasan srar g1 /

The beam is subjected to pure moments or couple.
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67. ABC 3-d¢! fAd=ur gurell & Fafeiad o 9 $dct & food I &1 S 9ad 3Hfdd IR o

St 82 / Which of the following inventory items is examined most frequently

in the ABC inventory control system?

A) T, 3R ITANT fhT OF a1d 3R, Y fSaiiast IHg & 91y 3= ANTd aTd 3¢l
3{ISCH / Expensive, frequently used and high-cost inventory items with short delivery
times.

B) T3¢ -SHIh- I dldl T SHTFCH, SRR IuTNT fbT S aret 3R dieft feeiiadt gwa &
1Y HH AT dTl Eﬁ?ﬁ 3HIgCH / Out-of-stock items are inexpensive, used frequently,
low cost with long delivery time.

C) HEY, SRR IYINT T 9H arel & I1y-H1y I Rt arrd ¢k dal feehadt awa
a'l@f's{@';ﬁ 3{IgCH / Expensive, frequently used items with high shipping costs and
long delivery times.

D) HgY, IR-IR ITANT fbT o1 a1at 3R +H fSeliad g & W1y %3 dFTd a1 3-d¢)

3{ISCHI / Expensive, frequently used and low-cost inventory items with short delivery
times.

68. TA-THC AT BT Y UHR ST B dhobIc B Rad RIM & DI UG BT HH
foaT ST AHdT §: / The possibility of formation of voids in concrete can be reduced by
using water-cement ratio as:

A) fRR / Steady B) THYHM / Uniform
C) 3HfYHIH / Maximum D) GAdH / Minimum
69. TRl -Ic BT SUANT & YR & I 9 forar ST ASaT gl /

A Flow net can be utilized for the purpose of determination of

A) R / seepage

B) SUXUU[ UldcY / shear strength

@) G@W’HWW/ maximum dry density
D) T H-ald / lateral earth pressure

70. Frofefad &  S1H-97 ST 3ifek 33 & ard T8 87 /

Which one among the following subsequent isn't an ordering cost?

A) %Y, TAIH 3R Wit T efrd wrafay 3R v=mafAs o9 /
Office and administrative expenses related to purchasing, accounting and receiving
B) ufkdg @rTd / Transportation costs
C) IARTS (3FQAIS) ANTA / Unloading costs
D) 's’ﬁaﬂ TR P oIl¥Td / Inventory store costs
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71. U 31T 1 Ybe i HH 3afd & Ty Jhe o iR @f gaTa T 98 9ga1d gRI
AT 81 / An impulse is characterized by a large change in sound pressure

within seconds with a duration of less than 1 second.
A) 0.5 B) 1
15 D)2

72. gl oTd & QT4 a8 g (@el! &1 ) V=CRi, T8t il &1 01 C ford 3 g1 e
8? / Flow formula for open channel (Chezei's formula) V=CVRi, where Chezy's
coefficient C is given by which formula?

A) X DI th—\IJTLT*IT/ Kutter's formula

B) %@ﬂﬁﬁﬂﬂﬁtﬁ%/ Hazens William's formula
@) S'Iﬁﬁtb"ﬁ?ﬂ/ Darcy's formula

D) ﬁﬁﬂﬁﬁ%/ Manning's formula

73. We S YRIEI01 F SR, THEU1 ) FHT B & forg Ufrd gAad fuem @eade) §: /

During plate load test, the minimum settlement to be observed for ending the test is:

A) 15T /15cm B) 2.5 THI / 2.5 cm
Q) 5T /5cm D) 7.5 ¥t / 7.5 cm

74. Frafafaa § 9 f5g SuwRur &1 IUTNT HIvi & AT & forw a1 fopar siar g2 /

Which of the following instruments is NOT used for the measurement of angles?

A) Y§h (ﬁﬂ'@?} / Sextant B) f¥3fiSI@Tse / Theodolite
C) SWl oad / Dumpy level D) Gled ¥¢-M / Total station

75. e Ylaex Yo+ U1 #, Seuy fafder & SuR grye (RUR) &1 Sy 3R UaH
Eke? Ellé AR fﬂ?ﬁ%l / In standard proctor compaction test, As per IS
specification, the mass of the rammer and height of fall is and
A) 4.89 kg, 450 mm B) 2.6 kg, 310 mm
C) 2.6 kg, 450 mm D) 4.89 kg, 310 mm

76. GA&UT UE (@ <o) ! [GRAREY o &1 o g & fere fpar Sran &: /

The operation of orienting the plane table is done for:

A) freft foRiy W= W Fdgur ug & YfH & TaFiaR I8 & gl /
Keeping the plane table parallel to the ground at a particular station
B) Tt WM TR Hd&mr ug &I IER Rufd o T@- & faw| /
Keeping the plane table in parallel position at all stations
@) ﬁgﬁﬁmtﬁ 3ifdhd & & fog| / Plotting the points on paper
D) q’g’%ﬁm%ﬁml / Centering the table
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77. 99 & 3raauiteu (Safemer) & faw Fufeiag # @ oF-3t fafdr o1 IuanT fean s

87 / Which of the following is the method used for desalination of water?

A) f[aggdqamiey @dacSafdRia) / Electrodialysis
B) 3fdd¥Tq- / Sedimentation

@) FHUH WWFD / Flocculation
D) Eﬁ‘ﬁﬂ:ﬂWUT/ Chlorination

78. FEfifad & ¥ H1H-91 Gdel, & Taeft (Biee Id) B TP IR HTeRd T8l 87 /

Which of the following surveys is NOT based upon the nature of the field survey?

A) STd-X@Te Tdemor @B@W@ / Hydrographic survey
B) WIIATT IequT / Astronomical survey

Q) Wﬂa&‘m (S Td) / Cadastral survey
D) EET“—WCI gdeor / Geological survey

79. YT ! YRR {1 1 fafry 1uries i/ Ads BT Rl /
The typical co-efficient of permeability value of clay is cm/sec.
A) 1.0 3R 3T 31 / 1.0 and greater

B) 1x 10 3R ITA HH / 1 x 10 and smaller
C)1x102¥5x102/1x102t0 5 x 102
D)2x103H 1x10%/2x103to 1x 10*

80. Ig 3R Hde-TRNd gl ¥ 3ifaaifid JaT & T Tha H= & g UHR & T
BSCR SUgad B1d g1 / type of samplers are most suitable for collecting
undisturbed soil samples from soft and sensitive clays.

A) R ¥ / Split spoon B) RIesll &Jd / Shelby tube
C) WHWR TdhE / Scraper bucket D) fi%eA / Piston

81. 3 IR B SHTIRADHT aTd HIAT & ford FEfafd & 9§ HH-31 Fderor srafora
f35aT ST 82 / Which of the following surveys is conducted for works requiring high
precision?

A) Wﬂa{&WT/ Chain survey

B) Wﬁ&m (aﬁmmﬂé‘&mr) / Compass survey
Q) wﬁﬁﬂaﬂﬁam/ Geodetic survey

D) 949 Ucd (@:T%EWD ﬂé‘&m/ Plane table survey
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82.T% fUig A, 5@ H 15 Hiey/Ads &t Fud I Y I HRaT g1 A & U faig B 3R €
W 3T 6 Hiex/Adhs 3R 4 Mex/Adhs & w4 F feu mu g1 3 377 nfqa fifs &1 frar @
ITH BId G, Py -Pc AT G? /

& @ @

. C= 4 ficz/@ss

A body A travels through water at a constant speed of 15 m/sec.
Velocities at points B and C in line with A are given as 6 m/sec and 4 m/sec.
These velocities are produced by the action of the moving body, what is Pg -Pc?

& @ @

— SR C=4m/sec
A) 40 KN/HTER? / 40 KN/m? B) 200 N/HTeX / 200N/m
C) 20 KN/HIeR2 / 20 KN/m? D) 20 N/HteX / 20 N/m

83. 90 ®I Uw &l fobar &1 fa=n & Ue fog T gk g do 39 UeR Ui fosar off Iaban § fs
1 GRT I THTE FHM T8, 39 A9 0 H ST i1l 8 /
Force can be transmitted from one point to another along the same line of action such
that the effects produced by the force remain the same is known as:

A) Il & IR &1 R4GId / Principle of Superposition of forces
B) Sl & AUV &1 Rigid / Principle of Transmissibility of forces

C) Il B o Wdzar &1 Rigid / Principle of Physical Independence of forces
D) ¥l & fadioM &1 Rigid / Principle of Resolution of forces

84. ya T & ferg fafafeat &1 w8l svH AT /

Choose the correct sequence of activities for a building construction.

A) 1. TESITE 2. IU-ET 3. SHY-TR=T 4. fhfAfRiT /

1. Design 2. Sub-structure 3. Super-structure 4. Finishing
B) 1. f&WT8 2. JU-TR= 3. fARIT 4. SfY-TR=AT/

1. Design 2. Sub-structure 3. Finishing 4. Super-structure
C) 1. SU-ER=T 2. fEuirg 3. AR 4. SffY-TR=m1/

1. Sub-structure 2. Design 3. Finishing 4. Super-structure
D) 1. JU-TR=T 2. FEWTS 3. iY== 4. fiAfRiT /

1. Sub-structure 2. Design 3. Super-structure 4. Finishing
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85. ¥ ATl & aehl B! §H1GC & oI HATUIRS SUTd &1 HAGTH AF ___ gt gl /

The maximum value of the centrifugal ratio for designing of curves of railways is

A) 1/8 B) 1/2
Q) 1/4 D) 1

86. HebIc & AP I g arell g1 g R R H=edl §: /

Loss due to shrinkage of concrete depends upon:

A) " 3{JUTd / Shrinkage ratio
B) Wga fddhid / Shrinkage strain
Q) FHebie DI YITRIIT PHT Wfde AU / Static modulus of elasticity of concrete

D) Qﬁﬂﬁaﬁﬁ Had P Sahsdl / Eccentricity of pre-stressing cable

87. M15 TH8I0T S/IUTd & 10 fhanmd devie &1 fAftd & & o fordm Side &t
TSI Blelt 82 / How much cement is required to make the 10 kg concrete of M15
mix proportion?

A) 1.14 fdiuM™ / 1.14 Kg B) 1.28 fhaUmd / 1.28 Kg
Q) 1.42 fhau™ / 1.42 Kg D) 1.56 faRmd / 1.56 Kg

88. Fafafaa & I forg faftr o1 Iugiv Tiqamq efdfed amm & forw fasar Sirar § o9 18 25
il @ 31fde g 3R ifimma: 519 a8 100 Tded I i g2 /

Which of the following methods is used for measuring turbidity when it is more than

25 ppm and preferably when it is more than 100 ppm?

A) ﬁwzﬁs"r/ Turbidity rod

B) me/ Jackson's Turbidimeter

C) 9aiy cfderier / Baylis Turbidimeter

D) el 31T BRI YA / Broken Capillary Thermometer

89. U SR | h/3 Bl HaTs d od o | g9 g & fUf J1d I /

A beaker contains water up to a height of h/3. Find the location of centre of pressure.

A) h/18 B) 4h/18

C) h/4 D) 18h/4

90. 1S 2131-1981 & IUR, HHE d4- TRIE0T (@Y H IUaNT faran S aTaT S18d YR §: /
As per IS 2131-1981, the drive weight used in standard penetration test (SPT) is:

A) 50 Kg B) 63.5 Kg
Q) 75Kg D) 42.5 Kg
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91.1S: 1172-1993 & 3R il e T R H IR IUANT & forg vifct safey ufafe siazas
wﬁwmw%? / What is the minimum consumption of an amount of water
need per capita per day for domestic for a town or a city as per IS: 1172-1993?

A) 100 I/h/d B) 120 I/h/d
C) 450 I/h/d D) 200 I/h/d

92. frgfafad & & SH-1 SrIHF Ja9 fayT=a SFHM HHT S 872 /

Which of the following estimate is considered the most reliable estimate?

A) fa&Jd 3FH / Detailed estimate

B) W (@) & &1 3{JHTT / Plinth area estimate
C) URTYH S{JHIT / Preliminary estimate

D) Y- ¥ HJHIT / Cube rate estimate

93. Yiuiae Acdd ! Fafafed # 9 oH-0 e, sH 1fafafy 3 Geifdd 52 /
Which of the following error of project network is related to dummy activity?
A) qﬁmsﬁ/ Looping error
B) ST (ﬂ?ﬁ) f[‘a’[%/ Dangling error
@) 3 (ﬂ@%?éb éj%/ Redundancy error
D) FITITCI:[Z%/ Closing error

94, FRfaRad # ¥ HH-1 TecIegs dTed BT IR BIdl 872 /

Which of the following is the use of Altitude valves?

A) S <Pl a1 Waursyl H Ut &I smgfd et g |/
Supplies water to elevated tanks or standpipes.
B) faa=ur yurTeht oY Sawaddl s WR 3MYf &g R it /
Distribution system to shut off the supply whenever required.
C) dIfdh U1+l o Ueh & fezn A sg T 1/
To allows water to flow in one direction only.
D) iﬁaﬁwéﬁms‘dﬁﬁ | / To blow off or remove the sand.

95. YaIferd debie Urgul & forg, 3ree Yedlhrul hoble &b Hig-SgHNT &7 F 3R
3T & fs/or IUTT & RISR B /

For Reinforced Concrete Pipes, the longitudinal reinforcement is equal to

of the cross-sectional area of concrete and mix use of ratio.
A) 0.25%, 1:1:2 B) 0.45%, 1:1.5:3
C) 0.65%, 1:3:6 D) 0.25%, 1:2:2
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96. fe L e fog @ 9 & srgfewr A 7 deare § 3R R &g R ashar &) Biean &: GspHur
Ih B! TAYT SMaIHdl & IR 7 Gl & o1d JaY 75 i1 8: / If Lis the length

measured along the curve from the tangent point and R is the radius of curvature at

the point; as per the fundamental requirement of a transition curve the relation
between these two is:

A) LR = fRRI® / LR = constant B)L=2R/L=2R
C) R/L = IRRI® / R/L = constant D) L/R = f&@Ri® / L/R = constant
97. gHB P! UfhdT & SR, T H HH! P HRUI B B /

During the process of consolidation, the reduction in volume takes place due to:

A) et RfkTdT o FHIGRM / Addition of water voids
B) GTQW & B / Expulsion of air voids

C) 5 Rfdaal & s / Expulsion of water voids
D) arg Rfdadl & THIGRM / Addition of air voids

98. SIH Y 1 AaT YR UTRTT B S B b fofg Faferiad #  fod SraurRo &1 SuanT
f3aT ST 82 / Which of the following concept is used to check the service load capacity
of the beam section?

A) Ufdad S{GYURUI / Stress concept

B) &¢T AdYRUI / Force concept

C) YR YJe 3dYRUN / Load balancing concept
D) adld 3dYRUIT / Pressure concept

99. Sd-HHe SUTd & [T TTad HYU= &1 II Pifod| /

Select the INCORRECT statement for the water-cement ratio.

A) Hepic § Ifd TR DI SRl & [ gAdH A6 § o BT ST foar S
8T / Minimum quantity of water should be used to have reasonable degree
of workability in concrete.

B) FehIc B Hole! oid-UIHe 3UTd & SgehHIaTd gl o /

Strength of concrete is inversely proportional to water-cement ratio.

C) STA-HHe ST Had Hebic BHI ASE! B THIIT FHRaT 8, Torax SR R &
9811 / Water-cement ratio affects only the strength of concrete not the quality
and durability.

D) S TA-HHe U & URUTHGR=T e Ue I g (@) e 8l
ST 81/ Excess water-cement ratio results in the segregation of aggregates from
cement paste.
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100. TfE TP ofex aRA Tard &1 YR 10 N g, 1 STHT [ARY e Jrd Siford| /
If one litre of fluid is weighing 10N, then determine its specific volume.

A) 0.981 m?/kg B) 981 m?

C) 9810 m? D) 0.981 m?

101. BoH-faferawy 9 & fore fFgfofed o @ oH-w sy Taa 82 /
Which of the following statement is INCORRECT for Hazen-Williams formula?

A) %Wuﬁ’r%ﬁ—mm%l / Itis valid only for water.
B) I UIHI o ATUHT 3R XAl $I T0HT Gl 6| /
It accounts the temperature and viscosity of the water.
C) 3BT UGN 5d 3MYfef ead & forg fovan o gpar 81/
It can be used for water supply networks.

D) U8 YATegd a1 Bt 70T el I@dT gl /

It does not account the Reynolds number.

102. U H Wi 3R §7 SR B BT T URUMH gid1 87 /

What does the issuing of stocks and bonds results in the company?

A) Wﬁq@/ Increase in liabilities B) g%frq@/ Increase in equity
Q) Wﬁﬁ/ Decrease in cash D) Wﬁq@/ Increase in cash

103. FUfead & | &19-91 o0 B g9 &1 YHIAd T8 drara? /

Which of the following expenses does NOT affect the cash book?

A) Ade TTert 3R The YITdTT / Cash receipts and cash payments
B) HU & §db WA F CeHTBI Y[eeh BT YA /
Telephone charges paid from the company’s bank account
C) TRft &I'I'Cj:mf&ﬁ ! foran T g YHIdI9 / Cash paid to material suppliers
D) HeOglH Y / Depreciation expenses
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104. Frgforiaa & @ g Amom ot 9e) e SR Iy fafd HH-3t g2 /

Which of the following is the most accurate and common method of measuring

distance?

A) TTHTYT (Fﬁ?—ﬁﬁ??) / Speedometer B) %I_EFFT (aﬁ"'[) / Chaining

Q) W/ Passometer D) Ug T (ﬁgﬁvﬂa) / Pedometer
105. AT a1 fEoie & forw g uvarg 3 € S fafva J U fpu MU gl /

There have been a number of proposals for limit state design that have been derived
from various

A) SMYRY (P 3Jo¥ ) / foundations B) W:H\?ﬁ/ structures
@) ﬁ@m [/ codes D) IST3M / plan

106. Fofafad & § 19- gd-ufdaa yomet RRY W 4m & 91y S a=ar arelt afea &1
JUIANT Bt 82 / Which of the following pre-stressing system employs high tensile
bars with thread at ends?

A) ANA- ST yumelt / Mangel-Blaton system
B) ThIRHIc JuMelt / Freyssinet system

Q) -Aahd EIUHFﬁ/ Lee-McCall system

D) T E-ITd Yunelt / Gifford-Udall system

107. Frgfoied & § HF-3 srwaq/srHH Usfd gHR Safaaid 3iHd WR 3neiid g2/

Which of the following estimation method is based on our personal experience?

A) 3 1¥Y HJHIT / Analogous estimation
B) fo=wg fAofa / Expert judgement

Q) Jreefie (ETU—SIGH) fafer / Top-down method
D) 99T (dlcd-310) fafd / Bottom-up method

108. URTSHT & RS gdermr & =mfid g / Preliminary survey of project includes:

A) ﬁﬁﬂ%ﬂﬁ? 3R AT S{THIF / Detailed design and cost estimate
B) TRASHT & Tt Fu1fdd fadmed / All possible alternatives of project
C) RIS &Y STHTT ANTd & Ty fgY 3R ararard wdermr /

Soil and traffic survey with the approximate cost of project

D) 3fJai% G¥dTdsl / Contract documents

Page 24 of 37



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

109. Fruforiaa & 9§ fow Tderur ug (@ 2aa) Tderur faftr grY 31-fofg goer o1 gme™
CRISIGI By which of the following plane table surveying methods,
the two-point problem is solved?

A) ?ﬁlﬁfﬂ fafer / Traversing method B) Sexa”M faf¥ / Intersection method
Q) 3 EQQ B ﬁﬁ[/ Radiation method D) F&ﬁwﬁf@r/ Resection method

110. Hteft X1 ey 7 IUAT TR T B! e AT J1d HToTY, S1d U+ & ANTd, Whd
e 3R Siia=-&1d AR 3,00,000.00 ¥4, 1,00,000.00 ¥ 3R 10 a4 §1 /
Find the building’s depreciation cost using straight-line method, when the building's
cost, scrap value and life are Rs. 3,00,000.00, Rs. 1,00,000.00 and 10 years respectively.

A) 20,000 393 Ufd T / Rs. 20,000 per year
B) 30,000 ¥TT Tfd d§ / Rs. 30,000 per year
C) 10,000 ¥ Tfd d§ / Rs. 10,000 per year
D) 5,000 I i EI'Ef / Rs. 5,000 per year

111. TR T ATV Hd THY g Ufd 9 Hiex &Y &9 § a1 o 9eel| /

bricks per cubic meter are to be taken into account while doing the
analysis of rate.

A) 50 B) 500
C) 1000 D) 2000

112. W TS TR0 & Tgad et Wl ST PR ITG: _ J_ dbaidrgl/
The size of test plates used in plate load test usually ranges from to .
A) 30 mm, 75 mm B) 75 mm, 150 mm
C) 100 mm, 300 mm D) 300 mm, 750 mm

113. @SITWH%&I'UTW 3% A" 3/ The purpose of geological survey is:

A) fafts W=t &1 FufRor s/ Determining different strata

B) WIS YUaT &1 @il HRAT| / Exploring mineral wealth

C) QRIAdT & SHIRIN &1 Udl I / Unearthing relics of antiquity
D) UM Agd & foigsft &1 Ay =11 /

Determining points of strategic importance
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114. T HeR 1 T FHIS I 3a ) 39 off 81 Il 6: /

True colour of unit is also called as:

A) B9 / Hazen B) =dT / Candela
C) Bfedd / Kelvin D) HId / Mole

115. drebic Bt FHTd F1d B & G Tlefur, Yriar i A §l/

All tests of finding the workability of concrete measure the workability:

A) ™/ Zero

B) TIHc o IO o SRIeR / Equal to the weight of cement
C) Y& ¥4 ¥ / Directly

D) 3U& ¥ ¥ / Indirectly

116. 9 Gaeor & Fafafad # ¥ SF-91 By 998 9die U § fafad foar srar g2 /

Which of the following triangles is most accurately plotted in chain surveying?

A) IHETg 10T / Equilateral triangle
B) THfgaIg MU / Isosceles triangle
C) AfIHHIT AYS / Obtuse angled triangle

D) WUT%HG[ / Right angled triangle

117. A1 SR dBr11 BT ITANT HRb U B! 5 Jal & T BT THR g1/

The type of soil sample collected using wash boring technique is

A) gfaffer / representative B) Gﬁ@/ undisturbed
@) R-gfaffa / non-representative D) stl'ffﬁ aﬁs‘ -Tsﬁ'/ none of these

118. Tf¢ U AT IRa Ua1d & 6 m? &1 YR 48KN ©, T RA & fARIF YR 3R ARy Toa
D1 U HISTTI / If 6 m® of a certain fluid weighs 48KN, calculate the specific weight
and specific gravity of the fluid.

A) 8000N/m? 3R 815 / 8000N/m? and 815

B) 8000 N/m? 3R 81.5 /8000 N/m? and 81.5
08 N/m? 3R 0.815 / 8 N/ m*and 0.815

D) 8000 N/m? 3 0.815 / 8000 N/m? and 0.815
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119. 5§ PI5 U R T B, Salad 3R IS & YR & HRU FHI1a Y 3R SRS Jag™
&1 Y ferumad o= & g1 i fie fhy Siam A /a1 8?2 / When a body is floating, sense

of tilt and sense of internal couple due to buoyancy and weight of the body is in a
clockwise direction, then the body is in which state?

A) WW@@R/Vemcally stable
B) ‘q:UﬁW ¥ fRR / Rotationally stable
Q) ‘q:UﬁW@I &F@R/ Rotationally unstable
D) dddd U I 3RR / Vertically unstable

120. i & @ S19-91 iy, @Rurie ey e tefteg=R) 981 87 /

Which of the following admixture is NOT an accelerating admixture?

A) TISAATGHTSA / Triethanolamine B) RiferenT gyai (Raferast w—H) / Silica fume
@) Ulel Freffaee / Poly carboxylate D) HIeRITH WIHE / Calcium formate

121, SR GaTd § Sl SIS dH Gald & WY TaTe & GRH Uigd d 81 9ol g1 /
is abnormal pressure that may occur in the pipe during operation with the

maximum pressure.

A) B BT gaT / Working pressure B) URI&[U1 GaTd / Test pressure
C) fewmg qama/ D) HaUIdT (HfSYe) qera /

Design pressure Gradient pressure

122.1952 B, YR YAd & ol d pa e At/

In 1952, the total number of zones in the Indian railways was .
A3 B) 4
Q5 D)6

123. 1853 H di%dl ¥ 3TUI & s e dTcil Ugedl ¢ A o1 g3 ag ot 4tz /

What distance was covered by the first train running between Bombay to Thane in

18532
A) 34 T H. / 34 km B) 35 fp. ¥, / 35 km
C) 36 f At / 36 km D) 37 .. / 37 km
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124, 1 Hiex A8 3R 16 A oo areft W o5 (& 313518 goi 7850 fhaum/ad fiex
%) & qo B! UMT HIOT| / Calculate the weight of 1m length and 16 mm diameter
steel rod (Unit weight of steel is 7850 Kg/m?).

A) 1.42 Tl / 1.42 Kg B) 1.58 fbUT / 1.58 Kg
C) 1.67 fbUT / 1.67 Kg D) 1.78 f&U1/ 1.78 Kg

125, % AT 8 BI GHAN, IS 1200-11 a7 Hiex & §¢ Bl GlARI &1 AU &I A ST 81 /
Up to cm thick brick walls, IS 1200-11l allows the measurement of brick walls in
sq. meters.
A) 8 B) 10
C) 12 D) 14

126. Yad & e (i) &= H o1 Jni <181 8l o2 /

The plinth area of building does NOT include:

A) %ﬁ?ﬁ?ﬂw (Ch?f) / Cantilevered porch

B) W%WW@@[W / Walls standing on floor level
C) forre SR ©f$ / Lift and landing

D) dd @Rﬁa &}HTW/ Carpet area

127. AT &1 Y §87 ¥ Sedd HRA gl /
The largest rail network in the world is India.
A) U=l / fifth B) @¥RT / second

C) T / third D) TrIT / fourth
128. 39 U1 1 faer &1 1 911 8 o ST Tias § Al TesdfiAIss ATSeio &I

AT ®I A0 & 7T foam ST 82 / What is the name of the solution which is used to
measure the amount of albuminoid nitrogen present in the sewage?

A) NH4CI B) KoCr.0;
C) KMnOg4 D) NHsNO;
129. T TIG@Id cad Bl oliF § daer ol o feram a1 / In , it was
decided to replace the existing rail networks with zones.
A) 1947 B) 1950
C) 1952 D) 1955
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130. FafiRad 7 A I IR-fATIsRY ufieron db-iiep] & Sfavid 8T 31 87 /
Which of the following does NOT come under the non-destructive testing
techniques?

A) TG URI&UT (faS[3fc ¢RE) / Visual testing

B) ?@?Fftlﬁ&fUT @Q’Qﬁm / Compression testing

C) HoR YRT URI&UT (TS! e Rem) / Eddy current testing
D) W1 GRI&(u1 (3fecifA® ¢fET) / Ultrasonic testing

131. ONUT 70N | 95 &7 3UTd §1a 8: / Coefficient of friction p is the ratio of:

A) YT 9 3R TR / Frictional Force and Resultant
B) U1 9 3R Twad Ufdfehar (rHa Ruaem)/
Frictional Force and Normal Reaction
C) 3FVgad §d 3R Tead Ufdfshar (e Ruaer)/
Applied Force and Normal Reaction
D) g0 §& G?ITG'IE[W/ Frictional Force and External Force

132. 3T Hel (HeRifeH) Hals B GM = BM + BG & &U H URYIT forar 1 g1 qat
forg AT o @ fop1 R & amuR R MRk rar @: /
Metacentric height is defined as GM = BM + BG. Its sign depends based on which one
of the following conditions.

A) T8 YT Bidl & 919 G, B ¥ SR 81| Jg BUINHD 5Idl & odl G, B ¥ 3AF g1/
It is positive when G is above B. It is negative when G is higher than B

B) T8 YT BIdl & Wd G, B A H 61| Tg BUIHD 8Idl & Sfd G, B H 31feb g1 /
It is positive when G is lower than B. It is negative when G is higher than B

C) U8 YT GBIl © 516l G, B Y 3{fUeh €l | U8 U §icll § 516 G, B Y BHF/
It is positive when G is higher than B. It is negative when G is lower than B

D) T8 &FTcH Bl ¢ 9Id G, B Y B 8 a1 B F 31 1 W AcI BT 8 /

It is positive when G is lower than B and neutral when higher than B

133. U g I7d UaTE H obfetes 813l d Bl & /

In an open channel flow the alternate depths are:

A) oot fafRry Soif T8 BIt 8 1/ That have the same specific energy

B) St A fafy Soif w81 €1/ That occurs at the same specific energy
@) Gﬁwaﬂﬁgéﬁw—eﬁl / At same velocity points

D) STl hifdidh TTeRTs TR 811 / At critical depth
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134. J&T & TSTY (IS) HaT FAI0N &F TR, I BT AHGR ¥ & o uRac-1g gl

81/ As per IS soil classification of soil the size of the sand varies between to
A) 2.00 mm, 20 mm B) 20 mm, 80 mm
C) 0.002 mm, 0.075 mm D) 0.075 mm, 4.75 mm

135, Ya! § o 3yfef & fore srfuormeh 1 Is-Pls w177 /
What is the 1S-Code of practice for water supply in buildings?

A) IS: 2065-1983 B) IS: 800-2007
C) 1S: 383-1970 D) IS: 1172-1993

136. 2D YT & U YRT a1 ¥ = 4XY & U H uRHIRG fPar T g1 (2,2) Wang: /

The stream function for a 2D flow is defined as Y = 4XY. The velocity at (2,2) is:

A) 82 B) 2.,/8
Q44 D) g,2
137. R ¥ gaeR @&feazm) & fore e s & mey @ HH-I1 Sidiid @) UeH fpar

SITdT 82 / Which inlet is provided through the inspection chamber for the ventilation
in the house?

A) TR aRg S / Circular air inlet  B) §eeb! dRY 3IH / Light air inlet
C) Y&k dig 3 / Dry air inlet D) T‘I'IGﬁEITﬁ 3IH / Fresh air inlet
138. FAufeRad & § $19-91 98 Ui § St dR &) Wi § Aeg ddl 67 /

Which one of the following is the property that helps to draw the wire?
A) TdT / Ductility B) TSI / Elasticity
C) TR / Plasticity D) €&dT / Tenacity

139, FEfiRad & 9 ®1F-91 ges uRaIS1 &t Y& ArTd &1 7161 67 /

Which of the following is NOT a component of the direct cost of project?

A) 9[H &I ANTd / Labor Cost

B) Ut BT AT / Material Cost

C) IUHRUT Dt ANTd / Equipment Cost

D) WﬁWﬁW/ Quality Control Cost
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140. Uoh SealeR YW o GHAd @ (dad d13) & dedd giat ¢, e seard g /

A vertical line that is perpendicular to the level line is called as:

A) &fds 3@ / Horizontal line B) TTgd T (/S d13) / Plumb line
O WW/ Elevation line D) HWW/ Meridian line
141, 5% 3R @% RN FH ST H__ TP Pl TR db (9% B & o SuYad gid g1 /
The hand augers are suitable for advancing hole up to depth of ____in soft soils.
A) 20 HI /20 m B) 15|/ 15m
Q) 12#Ht/12m D)6H /6m

142. &1 &1 98 T[0T Sl 3701 IRER Ja1 Rfaqdt § o a1 foelt o va uard & varg &1
3R a1 §, f¥T H&amat §: / The property of a soil which permits flow of water or
any other fluid through its interconnected voids is called:

A) ﬁﬁmﬂw / Specific gravity B) gdIhrUl (EF\I’TEIEIQH) / Compaction
C) URTRICT / Permeability D) ¥H® (PI-AIcS<H) / Consolidation

143. Tfe HUST & & forg Uit &t @ud ufd fa= wfa safad 20 dter g1 8M & fom wfafem ufd
fad forda diex UFt & ud gidl 872 / If the consumption of water for washing of

cloth is 20 litre per head per day, what is the consumption of water in litre per head
per day for bathing?

A) 65 B) 24

C) 55 D) 69

144. Uh YR AR ot gerdr g &1 STUTd %: /The efficiency of a simple machine is the
ratio of:

A) 3T3TYE 3R TYE / Output to input

B) R 3R TR / Load to effort

C) AT GRT T 1 18 Gt 3R HR GRT 0 &1 718 &8 /
Distance moved by effort to distance moved by load

D) HR @T@/ Load to distance

145, fasfed Sd e &1 gfded & a9 H ff ST ST g1/
Pore water pressure is also known as stress.
A) TUHTAT / effective B) &b / bending
Q) J&™H / neutral D) ?i'qpf/ total
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146. St & 1 | U @ AR (w) B I & goF SR ¥ U & 9 H
Uﬁlﬁfﬁ?{mw%l / The water content(w) of a soil sample is defined as the ratio of
weight of water to the

A) 319 Ul & goi / weight of the solids
B) <1 dui / total weight

) Rfdaat & aor / weight of voids

D) & 3[Ud / total volume

147.T% DI YR Fex AR & MR T g R Rfi fosar mar € S diaR dex
TTE Y TTER e & SR GaTs Bl 718 A &1 1T T8} BT 3R g S| /
A/an is established parallel to the sewer centre line at a distance that will not
disturb and covered excavated material during Setting out of Sewer Centre Line.

A) 3THIE TS / offset line B) ¢d TS @I / trench edge line
O aﬁm/ bracing D) R g dlg- / sewer centre line

148. Sfd fARUTYT O BT YR, 3 fUUS & YR Y HH &1 I /
When the weight of the fluid displaced is less than the weight of the solid body then:

A) WWWﬁﬁ@W%I / The body sinks in a fluid
B) fJug Rargl/ Body floats

) fivs RAagerd & ST gdl G / The body will be half immersed in the fluid
D) ﬁIUE”{UﬁWI / The body will be rotating

149. fefam/amad ufded uRad GHieRur o a=iiar 82 /

What does the plane stress transformation equation represent?

A) HIEX b / Mohr's Circle B) HgR Y& / Mohr's Rectangle
C) HIgx @131 / Mohr’s Line D) HIgx Uiaili-T / Mohr's Polygon

150. HYUT 961 39 R R e g: / Drag Force depends upon:

A) STt 1 IR (RREH) / System of supply
B) fti€ &1 1 / Density of the body

C) 9 B! =i LT 3R SoTHH O /
Dynamic Viscosity and Mass density of the fluid
D) Fafie YHIfad Tea (@H.H.8H) / Most probable number (M.P.N)
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[ Do not open this question booklet until asked to do so. ]

INSTRUCTIONS TO CANDIDATE

1. Fill up the necessary information in the space provided on the cover of Question

Booklet and the Answer Sheet before commencement of the test.

2. The duration of the test is 2 Hour. There are 150 questions.

3. You will not be allowed to leave the examination hall till the exam gets completed.

4. This booklet contains 36 Pages. Please check for completeness of the Question
Booklet immediately after opening.

5. No spare Question Booklet or Answer Sheet will be provided. Do not make mistakes.
Replacement will NOT be provided under any circumstances.

6. Each question has four answer options marked (A), (B), (C) and (D). Answers are to be
marked on the Answer Sheet, which is provided separately.

7. Choose the most appropriate answer option and darken the circle completely,
corresponding to (A), (B), (C) or (D) against the relevant question number.

8. Use only Blue/Black Ball Point Pen to darken the circle for answering.

9. Please do not darken more than one circle against any question, as scanner will read
such marking as wrong answer.

10. Once an oval is darkened as answer to the question, it is final. Answers option once
darkened cannot be changed.

11. Each question carries one mark. There is NO Negative Marking.

12. Rough work, if any, is to be done on the Question Booklet only. No separate sheet
will be provided/used for rough work.

13. Calculator, Mobile, etc., are not permitted inside the examination hall.

14. Candidates seeking, receiving and/or giving assistance during the test will be
disqualified.

15. Do not seek clarification on any item in the Question Booklet from the test invigilator.
Use your best judgment.

THIS QUESTION BOOKLET AND OMR ANSWER SHEET ARE TO BE RETURNED ON COMPLETION OF THE TEST.

Please fill in the following details using ball point pen.

Roll No.

Name Signature
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Question No

Answer keys

Question No

Answer keys

Question No

Answer keys

1 B 51 C 101 B
2 C 52 D 102 D
3 B 53 B 103 D
4 C 54 C 104 B
5 A 55 D 105 C
6 D 56 D 106 C
7 A 57 A 107 B
8 B 58 A 108 C
9 B 59 A 109 D
10 B 60 B 110 A
11 D 61 B 111 B
12 B 62 D 112 D
13 B 63 A 113 A
14 D 64 C 114 A
15 B 65 B 115 D
16 A 66 A 116 A
17 C 67 C 117 C
18 D 68 D 118 D
19 B 69 A 119 C
20 C 70 D 120 C
21 A 71 A 121 C
22 D 72 A 122 D
23 A 73 B 123 A
24 B 74 C 124 B
25 D 75 B 125 B
26 D 76 B 126 A
27 D 77 A 127 D
28 A 78 D 128 C
29 A 79 B 129 C
30 C 80 D 130 B
31 B 81 C 131 B
32 A 82 C 132 C
33 D 83 B 133 B
34 C 84 A 134 D
35 A 85 A 135 A
36 D 86 B 136 A
37 B 87 C 137 D
38 D 88 B 138 A
39 B 89 B 139 D
40 B 920 B 140 B
41 D 91 D 141 D
42 C 92 A 142 C
43 B 93 C 143 C
44 A 94 A 144 A
45 D 95 A 145 C
46 B 96 A 146 A
47 D 97 C 147 A
48 D 98 B 148 A
49 A 99 C 149 A
50 A 100 A 150 C
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